probablility

probablility

MphR, feature 1

MphR, feature 2

MphR, feature 3

MphR, feature 4

MphR, feature 5

MphR, feature 6

o 2
z_scored feature 25

0
z_scored feature 26

2 4
z_scored feature 27

1.0 L0 1.0 1.0 1.0
mnon-hs >08 mnon-hs >08 = non-hs >08 mnon-hs >08 mnon-hs >08 m non-hs
ths hs hs hs = hs £ hs
Z06 Z06
S04 504
g 0.2 s 02
ao. 50,
| IJLI ] =B e LII B 0.0 i 1 . DDI—I | I
0 2 0 2 -1 0 1 0 1 2 3 0 1 2 -1 0 1
2_scored feature 1 z_scored feature 2 2_scored feature 3 2_scored feature 4 2_scored feature 5 2_scored feature 6
MphR, feature 7 10 MphR, feature 8 10 MphR, feature 9 10 MphR, feature 10 10 MphR, feature 11 10 MphR, feature 12
-Rgn-hs EO‘B -Rgn-hs 208 -R(Sm-hs EO‘E -Esn-hs Eo'a -R(S:m-hs 20.8 V-g:n-hs
F08 506 F086 506 506
204 S04 S04 204 204
£ 02 EO 2 %o 2 Eo 2 g 0.2
ad. .. .. .. ..
721L‘0.|__IT_, 0.0 +,+JT.JE 0.0,{,__-;0_-;;? 0.0 J,_j.b__.-%-u‘ ool= - { 0.0 0 -
z_scored feature 7 z_scored feature 8 z_scored feature 9 z_scored feature 10 z_scored feature 11 z_scored feature 12
MphR, feature 13 5 MphR, feature 14 1o MphR, feature 15 19 MphR, feature 16 io MphR, feature 17 L6 MphR, feature 18
m non-hs mnon-hs = non-hs mnon-hs mnon-hs m non-hs
0.8 0.8 0.8 0.8
hs i—? hs hs 5? hs 5-: hs i; hs
206 206 =06 206
é 04 % 0.4 ‘30'4 S04
. I I . §02 502 502 502
L | 0.0 ——netn_sleenllls _ | 0.0 0.0 0.0 |l B e |
o} 2 -2 0 2 0 2 4 -2 0 2 -1 0 1 2 -1 a 1
z_scored feature 13 z_scored feature 14 z_scored feature 15 z_scored feature 16 z_scored feature 17 z_scored feature 18
MphR, feature 19 i MphR, feature 20 15 MphR, feature 21 I MphR, feature 22 VG MphR, feature 23 i MphR, feature 24
m non-hs =08 mnon-hs =08 m non-hs 0.8 m non-hs 08 mnon-hs =08 m non-hs
hs z =hs z hs z ~hs z hs 2z hs
Zos Zo06 Zos Z06 So6
204 204 204 204 204
e e = e [
6802 6802 502 6802 802
- -—0-'- — 0.0 e e 0.0 o 0,4.2.-.0#_? 0_0—4,_*0.__; 00ls . —
z_scored feature 19 z_scored feature 20 z_scored feature 21 z_scored feature 22 z_scored feature 23 z_scored feature 24
MphR, feature 25 io MphR, feature 26 10 MphR, feature 27
= non-hs 0.8 mnon-hs 0.8 = non-hs
hs £ hs £ hs
206 506
éo‘a .‘.é"o.«l
.. 402 802
Lol n. | ] Eeselaete .. )



